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INTRODUCTION

Interaction between Spanish diminutive and stem formatives (Bermudez-
Otero, 2006), also known as word markers (Harris, 1991)

Nouns and adjectives in Spanish have three four stem options
-o formative
-a formative
-e formative (with null allomorph)

Athematic stems (no formative)

(See Table on next slide)
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LIST OF STEMS

(ADAPTED FROM BERMUDEZ-OTERO, 2006)

-0 libr-o ['li. 8ro]
man-o ['ma.no]
-a libr-a ['li. Bra]
problem-a [pro.'ble.ma]
-e cruz-@ ['krus]
cruc-e ['kru.se]
hindu-2 [in.'du]
athematic  menu [me.'nu]

brindis ['brin.dis]

libr-o-s

man-o-s

libr-a-s
problem-a-s
cruc-e-s ['kru.ses]
cruc-e-s ['kru.ses]
hindu-e-s [in.'du.es]
menus [me.'nus]

brindis ['brin.dis]

‘book’ (MASC)
‘hand’ (FEM)
‘pound’ (FEM)
‘problem’ (MASC)
‘cross’ (FEM)
‘crossing’ (MASC)
‘Hindu’ (M/F)
‘menu’ (MASC)
‘toast’ (MASC)
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INTRODUCING THE DIMINUTIVE

-it is the most common of the four diminutive affix in Spanish

Shared properties

They can only be followed by stem formatives

The rightmost (in a series of diminutives) attracts stress
Unique properties

It is the only that can iterate (forming a series)

Possibility to act as an infix

Saturday, December 17, 2016 0



FORMING A SERIES

-it iterates, and the final diminutive gets the stress:
chiqu-ititit-it-o[MASC]/a[FEM]
chiqu-ititit-ill-o[MASC]/a[FEM]
chiqu-ititit-ic-o[MASC]/a[FEM]
chiqu-ititit-in-{@,e}[MASC]/a[FEM]

These examples are strictly-2-local
*[in][ic], *[ik][it], *[iA][it]

*DIMINUTIVEX
*DIMINUTIVE,-s
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STEM FORMATIVES ARE TSL

A diminutive series may intervene between two possible SFs

*SFSF
*[-s]SF

Example: Tier: *SF SF
|

[worbl[stemcuell *-0] -it+ -0 ]
Spanish phonotactic: *[PAL]# (SL,)

SF -0 is required (at some point in the derivation) before the diminutive to license the palatal A in
cuellito
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“.IT” 1S NOT SL,

-it may become an infix when it attaches to a stem with a final unstressed

closed syllable with the vowel -a or -0

Examples:
azucar (PL: azlcares) = azuquitar
Victor (PL: ?Victores) = Victitor
We need at least SL, to account for this pattern
*{a,0}stress [CI#DIM
(2,0} stress [CIDIM#
2,0} stress) PIM[CI#
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